Write an equation given a slope and a point
Use slope-point form |y - y, = m(Xx - X,)

Ex) Write an equation in slope-point form given:

a) The slope is “ and the coordinates of a point
on the graph are (-1, 5).
X Y.
Y-6=-4(xX+)

b) The line graphed to the right.
m= 3 Iy
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Ex) Write an equation in slope-intercept form given:
a) m = 2 and that the line passes through &2, 3)
! '

¥=-"= m’éq'j Steps:
y=S=2a(x+2) 1) Plug in m, X, and y,
Y = aX +4 o
+ +S 2) Distribute the brackets
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3) Move all terms to one
side to isolate y.

4) Combine constant terms



b) The slope is 2 and that the line passes through (-6,’2).
m 3 Xy Yr

y g' MCX xl)
y-a-= B.Cx-\-g)

Y R=S* 35
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c) Line passes through (-4, 3) and has a slope of -1.
y-3=-1(x+4)
y-37 %= ¢
L_J) = —-x—\

d) m = 5 and goes through (-3, 1).
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